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Quick Review PAI verbs

] )\ﬁw | loose }\ﬁOuEV We loose
}\13€1S You loose }\1,)€T€ You all loose
AVEL  Helshe looses }\1,)01)0'1(]}) They loose




2-1-2 Noun Paradigms

2
m \§yog
® \Gyou
= \Oyw
= \Oyov
= \jyot
= \OywV
m A\Gyoig
® AGyous

1
YPad
Ypadns
YPad]
Ypahnv
ypodai
Ypa(wy
Ypaaig
YPa(hds




The "is" verb PAI -- eipi

4

b
H el | am GO'péV We are

9
€l You are GO'Té You are
9 /

eTTL(V) He/shelit is eloi(V)  Theyare




Present Middle/Passive Indicative

®E \vopadt, -0peBa,
-1, -€0 B¢,
-€TOLL, -0V TO1

= | loose myself [Mid.] // | am loosed [Pas.]
| loose [subject emphasis]




Shape of the Future in Greek

E\Vow
| will loose
NS TS
You will loose
ANOO €1
He/she/it will loose

ANOOOLEV

We will loose
ANOOETE

You all will loose
AVoovOT1(V)
They will loose




Future Middle Paradigm

E \Voouat --opeBa
-1 --e0 B¢
—€TAL -0V TOLL

= | will loose for myself (Dep. = active)
| will loose (subject emphasis)




First Person Personal Pronoun

Singular Plural
eyu) ov HEIS
LLov ooV 1y

LLO1 o o1
LLE o€




Demonstrative and Relative Pronouns Summary

9 ~ 9 / 9 ~
B EKEIVOS,  EKElVM), eke€ivo = that
m oUTOg,  aiTm, T00TO
ToUTOU, TOAUTNS, TOUTOVL = this

4 &/

0 = Relative (who, which)
< ov

(V4
[ ] OS
ov

L
M




Rapping the Lord’s Prayer

[IdTep MUAOV 0 €V TOIS 0VPOVOIS
father our theonein heaven
aylao8iTw T0 dJvoud oov
make holy name your
eENBéTw M Poaoieia oov°
let come kingdom your
VEVNONTW TO0 BEéAnud oov,

let be will your




Introduction

m English: only one past
= They stood at the top of Mt. Jefferson.




Greek has 2 past tenses

m Imperfect. continuous/process past

= They were standing at the top of Mt.
Jefferson. (is verb + participle [-Ing])

m Aorist: complete/wholistic past--it
happened

= They stood at the top of Mt. Jefferson.




Imperfect Formation

m Augment + PRESENT STEM + CV +
2nd Ending

+ CV = connecting vowel
me + AU+ 0 + v = é\vov
m The connecting vowel Is:

¢0 before pand v

¢ ¢ before everything else




Imperfect Active Paradigm of Aow

m Singular Plural
= é\vov exvouey
| was loosing We were loosing
b4 9 /
B ENVES EAVETE
You were loosing You (pl.) were loosing
m é\ve(V) éNVoV
He/she/it was loosing They were loosing
= Secondary endings: (primary = present/future)

p)
= Chant: €NVOV, V, O, € €V, TE, V




Imperfect Middle/Passive of A\Vw

= Singular Plural
m EAvépnY eExviueba
| was being loosed We were being loosed
m NGOV ENVerBe
You were being loosed You all were being loosed

9 / 9 /
B EAVETO EAVOVTO
He/she/it was being loosed They were being loosed
= Chant: éxvéumv,
-unv, -ov, -€To, -0uneba, -€0Be, -0VTO




Four Ways to Augment an Augment

m 1) Before a consonant: €

= 2) Before a vowel: lengths vowel
ea ande lengthento n (eta=n; ete=n)
+0 lengthensto w (e + 0 = w)
+1 ending a diphthong subscripts (etet = 1)

+v ending a diphthong stays strong
(e+tav=nmv)




Four Ways to Augment and Augment

m 3) Prepositional with final consonant: insert
e augment in middle

o EKBANW -~ EEEBANNOV

m 4) Prepositional with final vowel: drop+insert
-- final vowel dropped and ¢ inserted

o anokTeivw (I die) —
améktevov (I was dying)




Augmenting Imperfect Examples

me+a=1n MNkovov (e+ akovw)

mete =1 T’iyelpov (e + é’yeipw)

meto=w Wpyobuny (e + opyéopnar)
* | was dancing

~

me+toart=1n dpov (e+ aipw)
met+tol = w WKOSGuouY (e + 0ikoSouéw)

e | was building




Imperfect eipi (a big one)

= Singular Plural

= Tuny Mpev
| was We were

RIS nTe
You were You all were
RSV, No oV
He/she/it was They were
= Chant this one In your sleep.




Some Translation Examples

B EKEiVog 3€ ENeyev mepl Tod vaod
100 oWpatog (body) avTod (Jn 2:21)

m  but that one was speaking concerning
the temple of his body

= kai Tfpyovto mpog avTtév (In 4:30)
= And they were coming to him




Vocabulary - Chapter 12

B AT0BVT oKW | die

B eKEl there

m fwg until

m 1300 behold

miva in order that, that




Vocabulary - Chapter 12

» lwdvvng, -ov, 0 John

B UEV on the one hand, indeed
= 9\og, -1, -0V whole, entire

m OTe when

“Woa )V, with




Imperfect 1Al (I M/P 1)

= Chant: €\VOV, V, O, € W€V, TE, V

= Chant: éxvéumv,
-ounv, -ov, -€To, -oueba, -eogBe, -0VTO




Imperfect eipi (a big one)

)
[l

NuNv
1S
n
|

LLEV

=9 =9 =)
-
m

V ooV
was, you were, s/he/it was...




